	____ 1.	Ultrasound lithotripsy is used to 


	A)	adjust the pH of the blood. 	D)	remove wastes from the blood. 


	B)	analyze a urine sample. 	E)	repair the kidneys surgically. 


	C)	crush stones in the kidney. 








	____ 2.	Ammonia contains the elements 


	A)	carbon and hydrogen. 	D)	nitrogen and hydrogen. 


	B)	carbon and oxygen. 	E)	nitrogen and oxygen. 


	C)	hydrogen and oxygen. 








	____ 3.	Ammonia is formed by the metabolism of 


	A)	amino acids.    B)  glucose.    C)  hydrogen.    D)  ions.    E)  lipids. 








	____ 4.	The liver converts most ammonia to 


	A)	amino acids.    B)  fatty acids.    C)  glucose.    D)  urea.    E)  uric acid. 








	____ 5.	The gout develops from the deposition of 


	A)	DNA.    B)  glucose.    C)  hydrogen ions.    D)  lipids.    E)  uric acid. 








	____ 6.	The color of urochrome is 


	A)	brown.    B)  green.    C)  orange.    D)  red.    E)  yellow. 








	____ 7.	When urine is eliminated, the ________ is the last structure it passes through. 


	A)	calyx    B)  nephron    C)  ureter    D)  urethra    E)  urinary bladder 








	____ 8.	The function of the renal artery is to 


	A)	control blood pressure. 


	B)	filter wastes. 


	C)	reabsorb fluid. 


	D)	transport blood away from the kidney. 


	E)	transport blood to the kidney. 








	____ 9.	The length of the urethra in the male is about ________ cm. 


	A)	2 to 4    B)  6 to 8    C)  10 to 14    D)  15 to 20    E)  25 to 30 








	____ 10.	The most external structure of the kidney is the 


	A)	Bowman's capsule. 	D)	renal cortex. 


	B)	glomerulus. 	E)	renal medulla. 


	C)	renal capsule. 








	____ 11.	The kidney contains about _________ nephrons. 


	A)	100 to 200 	D)	1 million to 2 million 


	B)	1000 to 2000 	E)	1 billion to 2 billion 


	C)	100,000 to 200,000 








	____ 12.	The glomerulus is a tuft of 


	A)	capillaries.    B)  fibers.    C)  muscle cells.    D)  neurons.    E)  tubules. 








	____ 13.	The Bowman's capsule is continuous with the 


	A)	collecting tubule. 	D)	proximal convoluted tubule. 


	B)	distal convoluted tubule. 	E)	ureter. 


	C)	loop of Henle. 








	____ 14.	The nephrons normally produce about ________ liters of urine per day. 


	A)	0.1 to 0.5    B)  0.1 to 0.9    C)  1.0 to 3.0    D)  2.0 to 5.0    E)  5.0 to 10.0 








	____ 15.	Fenestrae are _________ in the glomerulus. 


	A)	capillaries 	D)	white blood cells 


	B)	fat deposits 	E)	windows 


	C)	lipids 








	____ 16.	Which substance is not normally part of the glomerular filtrate? 


	A)	amino acid    B)  glucose    C)  ion    D)  plasma protein    E)  water 








	____ 17.	The slight constriction of the efferent arterioles 


	A)	decreases blood pressure. 	D)	increases tubular synthesis. 


	B)	decreases tubular synthesis. 	E)	keeps tubular secretion constant. 


	C)	increases blood pressure. 








	____ 18.	About ________ percent of the filtrate at the glomerulus leaves the body as urine. 


	A)	1    B)  5    C)  10    D)  20    E)  50 








	____ 19.	The peritubular capillaries empty into the 


	A)	afferent arteriole. 	D)	renal artery. 


	B)	efferent arteriole. 	E)	renal vein. 


	C)	glomerulus. 








	____ 20.	The internal sphincter is a band of 


	A)	arteries and veins. 	D)	skeletal muscle. 


	B)	capillaries. 	E)	smooth muscle. 


	C)	cardiac muscle. 








	____ 21.	Secretion of ADH 


	A)	changes red blood cell production. 	D)	increases potassium reabsorption. 


	B)	decreases potassium reabsorption. 	E)	increases water reabsorption. 


	C)	decreases water reabsorption. 








	____ 22.	Osmoreceptors are located in the 


	A)	cerebrum. 	D)	thalamus. 


	B)	hypothalamus. 	E)	ventricles. 


	C)	medulla. 








	____ 23.	Angiotensinogen is produced by the 


	A)	hypothalamus.    B)  kidney.    C)  liver.    D)  small intestine.    E)  stomach. 








	____ 24.	Caffeine 


	A)	decreases the volume of urine produced. 


	B)	decreases glomerular filtration. 


	C)	decreases the production of red blood cells. 


	D)	increases the production of red blood cells. 


	E)	increases glomerular filtration. 








	____ 25.	In diabetes mellitus, not all the glucose in the blood can be 


	A)	combined with hemoglobin. 	D)	secreted by the nephrons. 


	B)	measured in the blood. 	E)	transported to the hypothalamus. 


	C)	reabsorbed by the nephrons. 








	____ 26.	Urine in the ureter is passed to the _______ next. 


	A)	collecting duct 	D)	urethra 


	B)	glomerulus 	E)	urinary bladder 


	C)	renal artery 








	____ 27.	The peritoneum lines the 


	A)	abdominal cavity. 	D)	thoracic cavity. 


	B)	pelvic cavity. 	E)	ventricles. 


	C)	pericardium. 








	____ 28.	By renal dialysis, blood is drawn from a(n) 


	A)	artery.    B)  glomerulus.    C)  ureter.    D)  urethra.    E)  vein. 








	____ 29.	Diabetes insipidus develops from a lack of


	A)	ADH.    B)  aldosterone.    C)  glucagon.    D)  glycogen.    E)  insulin. 








	____ 30.	A patient with diabetes insipidus produces 


	A)	a large volume of urine concentrated with solutes. 


	B)	a large volume of urine with low solute concentration. 


	C)	a small volume of urine concentrated with solutes. 


	D)	a small volume of urine with low solute concentration. 


	E)	urine with blood in it. 








	____ 31.	Amino acid breakdown occurs in the body when there is a shortage of carbohydrates. 


	A)	True   B)  False








	____ 32.	Deamination is the breakdown of glucose. 


	A)	True   B)  False








	____ 33.	Urine is mainly water. 


	A)	True   B)  False








	____ 34.	The wall of the urinary bladder contains smooth muscle. 


	A)	True   B)  False








	____ 35.	The renal cortex consists of renal pyramids. 


	A)	True   B)  False








	____ 36.	The Bowman's capsule surrounds the glomerulus. 


	A)	True   B)  False








	____ 37.	The DCT and PCT are regions of the nephron. 


	A)	True   B)  False








	____ 38.	The innermost sieve for glomerular filtration includes the endothelium of capillaries. 


	A)	True   B)  False








	____ 39.	Blood enters the glomerulus from the afferent arteriole. 


	A)	True   B)  False








	____ 40.	The glomeruli produce about 180 liters of filtrate daily. 


	A)	True   B)  False








	____ 41.	Tubular reabsorption is not a selective process. 


	A)	True   B)  False








	____ 42.	Calcium ions are reabsorbed at the proximal convoluted tubule. 


	A)	True   B)  False








	____ 43.	Blood is normally transported from the inferior vena cava to the renal vein. 


	A)	True   B)  False








	____ 44.	The external sphincter of the urethra consists of smooth muscle. 


	A)	True   B)  False








	____ 45.	Urinary incontinence is the retention of fluid in the bladder. 


	A)	True   B)  False








	____ 46.	ADH is released from the anterior pituitary gland. 


	A)	True   B)  False








	____ 47.	The secretion of aldosterone stimulates the reabsorption of water. 


	A)	True   B)  False








	____ 48.	The release of renin converts angiotensin into angiotensinogen. 


	A)	True   B)  False








	____ 49.	A reduction in blood pressure stimulates the release of renin. 


	A)	True   B)  False








	____ 50.	Ethanol stimulates the release of ADH. 


	A)	True   B)  False








	____ 51.	Caffeine is a diuretic. 


	A)	True   B)  False








	____ 52.	There is an increased uptake of glucose from the blood in diabetes mellitus. 


	A)	True   B)  False








	____ 53.	Lithotripsy involves surgery on the body. 


	A)	True   B)  False








	____ 54.	Acute renal failure develops over many years. 


	A)	True   B)  False








	____ 55.	Chronic renal failure can develop in several hours. 


	A)	True   B)  False








	____ 56.	CAPD is a special treatment for hypertension. 


	A)	True   B)  False








	____ 57.	Kidney transplants are costly. 


	A)	True   B)  False








	____ 58.	Diabetes insipidus develops from a deficiency of insulin. 


	A)	True   B)  False








	____ 59.	Diabetes insipidus develops from a hormonal imbalance. 


	A)	True   B)  False








	____ 60.	Mild cases of diabetes insipidus can be treated by dietary changes. 


	A)	True   B)  False








	61.	The amino group contains the elements ________ and ________. 








	62.	Bile pigments are formed from the breakdown of _________. 








	63.	The function of the urinary bladder is storage and elimination of the ________. 








	64.	The renal artery is a branch from the abdominal ________. 








	65.	In females, the urethra is about ________ centimeters in length. 








	66.	The ________ is the layer of the kidney between the renal capsule and the renal medulla. 








	67.	The renal tubule consists of __(number)__ segments. 








	68.	The loop of Henle is located between the _______ and _______ of the nephron tubule. 








	69.	The term "podocyte" means ________. 








	70.	Glucose is reabsorbed at the __________ of the nephron. 








	71.	Contraction of the muscle tissue in the wall of the bladder ________ the urine. 








	72.	The ________ of the brain is near the pituitary gland. 








	73.	A reduction in the secretion of ADH changes blood volume by ________ this volume. 








	74.	Ninety percent of the dissolved wastes in the urine are the substances ________, ________, and ________. 








	75.	Complete renal impairment and shut-down is also called ________. 








	76.	What is glomerular filtration? 








	77.	What is tubular reabsorption? 








	78.	What is tubular secretion? 








	79.	What factors in the blood control the release of aldosterone? 








	80.	Match each term on the left to an appropriate association on the right.


		


			_____ ADH	A. most of the urine volume


		


			_____ caffeine	B. stimulates water reabsorption


		


			_____ glucose	C. normally not filtered at glomerulus


		


			_____ hydrogen	D. high levels in the blood/diabetes mellitus


		


			_____ protein	E. diuretic


		


			_____ water	F. high concentration makes blood acidic 











�
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	1.	C	





	2.	D	





	3.	A	





	4.	D	





	5.	E	





	6.	E	





	7.	D	





	8.	E	





	9.	D	





	10.	C	





	11.	D	





	12.	A	





	13.	D	





	14.	C	





	15.	E	





	16.	D	





	17.	C	





	18.	A	





	19.	E	





	20.	E	





	21.	E	





	22.	B	





	23.	C	





	24.	E	





	25.	C	





	26.	E	





	27.	A	





	28.	E	





	29.	A	





	30.	B	





	31.	A	





	32.	B	





	33.	A	





	34.	A	





	35.	B	





	36.	A	





	37.	A	





	38.	A	





	39.	A	





	40.	A	





	41.	B	





	42.	A	





	43.	B	





	44.	B	





	45.	B	





	46.	B	





	47.	A	





	48.	B	





	49.	A	





	50.	B	





	51.	A	





	52.	B	





	53.	B	





	54.	B	





	55.	B	





	56.	B	





	57.	A	





	58.	B	





	59.	A	





	60.	A	





	61.	nitrogen and hydrogen 





	62.	red blood cells 





	63.	urine 





	64.	aorta 





	65.	four 





	66.	renal cortex 





	67.	four 





	68.	PCT, DCT 





	69.	foot cell 





	70.	proximal convoluted tubule 





	71.	eliminates 





	72.	hypothalamus 





	73.	decreasing 





	74.	urea, sodium ions, chloride ions 





	75.	end-stage failure 





	76.	Glomerular filtration is the passage of substances from the blood into the Bowman's capsule.  Most substances of the blood plasma are filtered normally, except the plasma proteins. 





	77.	Tubular reabsorption is the selective return of substances from the tubular part of the nephron into the blood of the peritubular capillaries. 





	78.	By tubular secretion, some substances exit from the blood of the peritubular capillaries into the terminal part of the nephrons. 





	79.	The factors are blood pressure, blood volume, and blood osmolarity. 





	80.	B, E, D, F, C, A 
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